
 

 

B A 

tyaf;fy;tp mYtyfk; - tTdpah njw;F 

khjhe;jg;ghPl;ir itfhrp – 2018 
juk; -06       fzpjk;     Neuk;:40epkplk; 
         gFjp -I  
01 kpfg; ngupa myFg;gpd;dk; ahJ? 

 
 
 
 
 

02 2

5
,w;F rktYg; gpd;dk; xd;W vOJf. 

 
 

03 3 ,d; ehd;fhtJ klq;F ahJ? 
 
 
 
 

04 2MYk; 5MYk; tFgLk; kpfr;rpwpa vz; 
ahJ? 
 
 
 
 
 
 

05 10,d; fhuzpg;ngUf;fq;fs; midj;ijAk; 
vOJf. 
 
 
 
 
 
 

06 jug;gl;Ls;s gpd;dq;fis ,wq;Ftupir 

gLj;Jf.   
1

4
,

1

3
,
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5
  

07 epow;wpa gFjpia KOtjpd; gpd;dkhf vOjp 
mjid vspa tbtpy; jUf. 
 
 
 
 
 

     

     

08  
 
 
 
  
 
A, B vd;gtw;wpd; nghJg; gz;Gfis vOJf. 
A:-……………            B:-………………… 
 

09 40 ,dpg;Gfis 8 NgUf;Fr; rkdhf toq;f 
Ntz;Lk; vdpd; xUtUf;Ff; fpilf;Fk; 
,dpg;Gfspd; vz;zpf;if ahJ? 
 
 
 
 

10 ,ul;il vz;zhfTs;s Kjd;ik vz; ahJ? 

         (10 × 2 = 20Gs;spfs;) 

 gFjp –II 
 
vy;yh tpdhf;fSf;Fk; tpil jUf. 
 

01) I. VWtupirg;gLj;Jf. 
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 II. < my;yJ > Ig; gad;gLj;jpj; njhlu;GgLj;Jf. 

  a. 
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    III. $l;Lf: 
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       iv. fopf;Ff: 
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02)  

 
thiog;gok;                ,why;            G+rzp       
 
md;dhrp          fj;jupf;fha;     mg;gps;        fztha; 
 
kPd;          NghQ;rp 

 I. nghJg;gz;GfSf;Nfw;g jug;gl;ltw;iw A,  B, C vd %d;W $l;lq;fshf;Ff. 
 

 

 

 

       II. A,  B, C  ,w;F nghUj;jkhd ngaiu vOJf. 

  A:-…………………….       B:-……………………   C:-………………………. 

              III.      A,  B, C  ,w;Fs; mikaf;$ba NkNy jug;glhj xt;nthU nghUl;fis 
vOJf. 

  A:-…………………….            B:-……………………          C:-………………………. 

               IV.     A,  B, C  %d;wpw;Fk; nghJthfTs;s nghUs; cz;lh? 
03)  

  1  × ……… 

 …. .×  15 

  3    ×  … … ..  

  …..×  6 
 1. ntw;wplq;fis epug;Gf. 
 2. 30 ,d; fhuzpfs; midj;ijAk; vOJf. 
 
 3. 30 ,d; xw;iwvz; fhuzpfs; vit? 
 
 4. 30 ,d; ,ul;ilnaz; fhuzpfs; vit? 
 
 5. 30 ,d; 3 ,dJ klq;fhfTs;s fhuzpfs; vit? 
 
 6. 30 ,d; 5 ,dJ klq;fhfTs;s fhuzpfs; vit? 
 
 7. 30 ,d; fhuzpfSs; 3 ,dJk; >5 ,dJk;  klq;fhf mikAk; fhuzpfs; vit? 
             

          (4+1+1+1+1+1+1) 
 
 

A B C 
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